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6) (x-1)(x² + x + 1) > 0

Sol: (x-1)(x² + x + 1) > 0

Previo: x² + x +1 = 0 (A= 1, B=1, C=1 )<==> Disc = (1)² – 4*1*1 = 1 – 4 = -3 <0

x² + x + 1 > 0 para todo x real

==> x-1 > 0 <==> x > 1 S=] 1,+oo[ 

7) – x³ + 2x² +3x < 0

Sol: -x (x² – 2x – 3) < 0

<==> (-x < 0) ^ (x² – 2x – 3 > 0)     v    (-x > 0) ^ (x² – 2x – 3 < 0)

Previo: x² – 2x – 3 = 0 Disc: (-2)² – 4*1*(-3) = 4 + 12 = 16 > 0

x = [ -(-2) ± sqrt(16) ] / 2*1
   = [2 ± 4] / 2

x  = [2+4] / 2 = 3₁ v x  = [2-4] / 2 = -1₂

==> x² – 2x – 3 = (x-3)(x+1)

==> (-x<0) ^ (x-3)(x+1)>0 (Caso 1)   v  (-x>0) ^ (x-3)(x+1) < 0 (Caso 2)

(-x<0) ^ (x-3 >0) ^ (x+1>0)     v    (-x<0) ^ (x-3 <0) ^ (x+1<0)

<==> x>0 ^ x>3 ^ x>-1 v x>0 ^ x< 3 ^ x< -1

<==> S  = ]3,+oo[ U vacío = ]3,+oo[    ₁

(-x>0) ^ (x-3>0) ^ (x+1<0) v (-x>0) ^ (x-3<0) ^ (x+1>0)

<==> x<0 ^ x>3 ^ x< -1 v x<0 ^ x<3 ^ x>-1

<==> S  = vacío  U  ]-1,0[  = ]-1,0[₂

Por lo tanto, S = S  U S   = ]-1,0[ U ]3,+oo[₁ ₂    (Fin)



8) x³ > x² 
(Alonso)

Sol: x³ > x²
<==> x³ – x² > 0
<==> x² (x-1) > 0
<==> x² > 0 ^ (x-1>0) v x² < 0 ^ (x-1<0)
<==> x!=0 ^ x>1 v no existe x real.
<==> x>1

S=]1,+oo[

11) (x-2)² / (x² -1) >= 0

(Britney)

Sol: Restricción: (x² - 1) != 0 <==> (x+1)(x-1) != 0    <==> FALTA UN PASO  <==> x!= -1 ^ x!= 1

(x-2)² >= 0 x>=2  v   x<2

x² – 1 = (x+1)(x-1) > 0
<==> (x+1>0) ^ (x-1>0) v (x+1<0) ^ (x-1<0)
<==> x > -1 ^ x>1 v x< -1 ^ x<1

S = ]1,+oo[  U  ]-oo,-1[ 


